Chemistry 1410 Spring 2005
Quiz 3, Section 1, 20 pts

Name {please print)

K. =[H'][CH] pH = -log[H"] pOH =-logfOH]  pH+pOH= 14
KaKs = K

1. Calculate the pH of the following sclutions.

a)(}) A 0.82 M HCI solution. Ml = M eel
o= -log Wiy ~loy (084) = 0.0

b)(3) If 3.8 grams of NaOH is dissolved in enough water to create a total sclution

volume of 400 mL.
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2{2) ldentify the acid-base conjugate pairs in the following reaction,
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CH:COO™ + HC CH;CO0OH + CN
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3 The X, value for ascorbic acid (Vitamin C) is 8.0x 107,
{2} 2) The pH of a 0.20 M solution of ascorbic acid (HA) 1s

A. Greater than 7

ss than 7
C. Equalto 7
D. Insufficient information te predict.



(4 b} Calculate the pH of a 0.20 M solution of ascorbic avid.
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402} ThepH of a 0.20 M solution of sodinum ascorbate (NaA) is

(é;? {reater than 7

B. Lessthan 7

. Equalta 7

1%, Insufficient information to predict.

{4)  b) Caiculate the pH of a 0.20 M solution of sodium ascorbate. &~ ‘°“J‘~‘_)“}°~ boe
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